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(37) Let f,g : X — Y be two maps. Show that the set {z €
X|f(x) = g(x)} with the inclusion map into X is an equalizer

of f,g: X —Y.
(38) (a) Let the commutative diagram
p—L— 4
q f
B C

be a pullback (a limit) of the morphisms f : A — C and
g : B — (. Assume that g is a monomorphism. Show
that p is also a monomorphism.

(b) Show that the category of sets has pullbacks.

(39) Let X and Y be two sets. Show that the disjoint union XUY
is a coproduct of X and Y in the category of sets.

(40) Show that the category of sets has coequalizers.
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